Wed. Feb. 10, 2014 MATH 340, Quiz 2 Prof. V. Panferov

Sotu Hons

Name: (print)

Each problem is worth 2 points. Show all your work.

1. Sixty percent of the students at a certain school wear neither a ring nor a necklace. Twenty
percent wear a ring and 30 percent wear a necklace. If one of the students is selected randomly,
what is the probablity that this student is wearing a ring and a necklace?

)Q _ SM.?‘J«'?‘ ‘
B weav{ QA ’V"‘fj
dewt
N = / ig’;aﬂ @ meck (aa;

R)=o0.2 P(/V>:0’3
P( P(ECNC _ o0.& f?P(EUN>:O'L/

pleun) = P(R)+P(N) ~ P(RN)
1 " I

O«Z/ 0.2 0.3
=2 P(’EN) = 01

2. If it is assumed that all (552) cards are equally likely, what is the probablilty of being dealt a
pair? (This occurs when the cards have denominations a, a, b, ¢, d where a, b, ¢ and d are
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3. If 8 castles (that is, rooks) are randomly places on a chessboard, compute the probablity that

none of the rooks can capture any of the others. That is, compute the probability that no row
or file contains more than one rook.
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The end.



